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QUESTION 1

The filehandle INPUT is associated with the file represented by $file. Which statement will close the filehandle INPUT?
A. close (INPUT, %file);

B. closeINPUT;

C. INPUT(close, $file);

D. close(INPUT);

Correct Answer: D

QUESTION 2

Consider the following program code: if ("cool" =~ m/[cool|{4}/) { print("True "); } else { print("False "); } if ("cool" =~
m/[col[{4})) { print("True "); } else { print("False "); } What is the output of this code?

A. False False
B. False True
C. True False
D. True True

Correct Answer: D

QUESTION 3
Consider the following program code:

@array = ("one", "two"); push(@array, "three"); shift(@array);
unshift(@array, "four");

pop(@array); print($array[0]);

What is the output of this code?

A. one

B. two

C. three

D. four

Correct Answer: D
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QUESTION 4

Consider the following command:

perl runme.pl argl arg2 arg3

Given this command issued on the command line, what is the value of @ARGV?
A. argl

B. runme.pl

C. argl arg2 arg3

D.2

Correct Answer: C

QUESTION 5

Which statement is the most accurate?

A. The unshift function removes elements from the beginning of an array.
B. The unshift function adds elements to the end of an array.

C. The shift function adds elements to the end of an array.

D. The shift function removes elements from the beginning of an array.

Correct Answer: D
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